i Class Size Survey

Q1 At which level do you teach? Mark all that apply.

Answered: 1,005  Skipped: 1

Preschool I

Middle School
High School

Adult Ed or CTE
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ANSWER CHOICES RESPONSES
Preschool 2.09%
Elementary 51.14%
Middle School 22.79%

High School 25.77%

Adult Ed or CTE 0.80%

Total Respondents: 1,005
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Class Size Survey

Q2 Which grade level/s do you teach? Mark all that apply.

Answered: 992  Skipped: 14

Grade TK .

Grades 2-3
Grades 4-5

Grades 6-8 !
an
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ANSWER CHOICES RESPONSES
Grade TK 7.26%

Grade K or 1 21.07%
Grades 2-3 21.77%
Grades 4-5 20.46%
Grades 6-8 22.88%
Grades 9-12 26.21%

Total Respondents: 992
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Class Size Survey

Q3 On a scale of 1-5, with 5 being the greatest impact, what impact did
this year’s one time class size reduction (described in background section
above) have on your instructional practice?

Answered: 934  Skipped: 72

0 1 2 3
ANSWER CHOICES AVERAGE NUMBER
Total Respondents: 934
BASIC STATISTICS
MINIMUM MAXIMUM MEDIAN
0.00 5.00

5 6 i 8 9 10
TOTAL NUMBER RESPONSES
2 2,119
MEAN STANDARD DEVIATION
2.00 2.27
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Class Size Survey

Q4 On a scale of 1-5, with 5 being the greatest impact, what impact did
this year’s one time class size reduction (described in background section
above) have on student learning and achievement?

Answered: 943  Skipped: 63

0 1 2 8
ANSWER CHOICES AVERAGE NUMBER
Total Respondents: 943
BASIC STATISTICS
MINIMUM MAXIMUM MEDIAN
0.00 5.00

5 6 7 8 9 10
TOTAL NUMBER RESPONSES
3 2,413
MEAN STANDARD DEVIATION
3.00 2.56
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Class Size Survey

Q5 The cost of the one-time class size reduction that was implemented
this school year (described in the background section above) was $4.2
million dollars. The cost of a 1% one-time payment for all employees is
$3.3 million dollars. The cost of a 1% ongoing salary increase for all
employees is $3.3 million dollars for the year it is negotiated, and this cost
continues every year thereafter. Understanding these costs, how do you
feel $4.2 million in one-time dollars should being spent in 2022-237

Answered: 1,001  Skipped: 5

Maintain the
class size...

Apply these
funds to...

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

ANSWER CHOICES

Maintain the class size reduction that occurred in 2021-22 for the 2022-23 school year

Apply these funds to employee compensation. Examples of this would include using these funds for a one-time
payment to employees or using these monies toward the funds needed for an ongoing salary increase.

TOTAL

RESPONSES
30.77% 308

69.23% 693

1,001



Class Size Survey

Q6 Reducing class size by 1 student TK-12 costs about $3.5 million. A 1%
salary increase costs about the same amount of money, $3.3 million.
Similarly, reducing class size by 2 students is essentially equivalent to the
cost of a 2% salary increase. Reducing by 3 students is equivalent to a 3%
salary increase, and so on. If budget constraints caused us to have to
choose class size reduction or a salary increase, how many fewer students
would you need to have in your classroom to choose class size reduction
over a salary increase?

Answered: 985  Skipped: 21

Reduction of 1
student
Reduction of 2
students

Reduction of 3
students

Reduction of 4
students

Reduction of 5 ' i
students

Reduction of 6

students
Other (please 3 |
specify) I00 l.
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ANSWER CHOICES RESPONSES

Reduction of 1 student 10.86% 107
Reduction of 2 students 12.59% 124
Reduction of 3 students 13.30% 131
Reduction of 4 students 12.18% 120
Reduction of 5 students 16.55% 163
Reduction of 6 students 18.98% 187
Other (please specify) 15.53% 153
TOTAL 985
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